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PART—I / wl9—I
CHILD DEVELOPMENT AND PEDAGOGY / ¢ fqa @ frpetaieh

Directions : Answer the following questions by
selecting the correct option.

1.

4.

Maria Montessori was a/an
(A) German physician

(B) Greek physician

(C) Italian physician

(D) None of the above

Which one of the following is not a
characteristic of ‘G factors’ with reference
to ‘two-factor theory’?

(A) It is universal inborn ability

(B) It is learnt and hence acquired in the
environment

(C) It is general mental ability

(D) None of the above

Which one of the following factors of
‘primary mental ability’ enables the
individual to do numerical calculations
rapidly and accurately?

(A) Verbal factor
(B) Reasoning factor
(C) Number factor

(D) None of the above

According to whom, human intelligence
is composed of three dimensions, viz.,
operations, contents and products, as
detected by factor analysis?

(A) Alfred Binet
(B) L. L. Thurstone
(C) E. L. Thorndike

(D) None of them
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5.

7.

The book, Hereditary Genius was written
by

(A) F. Galton
(B) Vernon
(C) J. P. Guilford

(D) None of them

‘Dysgraphia’ means
(A) difficulty in reading
(B) difficulty in writing

(C) difficulty in
language

grasping  spoken

(D) None of the above

Who among the following admitted that
“education is a social need”?

(A) Rousseau
(B) Binet
(C) Dewey

(D) None of them

It refers to the undesired response with
an outcome that is painful or not liked.

(A) Positive reinforcement
(B) Aversive conditioning
(C) Reinforcement

(D) None of the above
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9.

10.

11.

12.

Which one of the following is the best
method to evaluate the achievement of
students?

(A) Continuous evaluation
(B) Annual evaluation
(C) Quarterly evaluation

(D) None of the above

Which of the following
purpose of assessment?

is the main

(A) To promote the child to the next class

(B) To measure the achievement of the
child

(C) To point out the errors of the child

(D) None of the above

Special education is associated with the
educational programme for the

(A) disabled and gifted both
(B) disabled only
(C) teachers’ training

(D) None of the above

A student with ‘isual

should be

impairment’

(A) excluded from the normal class
(B) provided support with audio CDs

(C) asked to take help from the parents
for classwork

(D) None of the above
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13.

14.

15.

16.

Which one of the following is not correct
regarding the concept of assessment?

(A) Assessment provides feedback to the
teacher and learner

(B) Assessment directs the weakness of
the learner

(C) Assessment provides feedback to the
learner only

(D) None of the above

Measurement is

(A) a product

(B) a judgement

(C) an evaluation

(D) None of the above

In this type of test, the item problems
are arranged in increasing order of
difficulty.

(A) Power test
(B) Performance test
(C) Speed test

(D) None of the above

Plus curriculum is generally used in
(A) creative educational programme
(B) inclusive educational programme
(C) general educational programme

(D) None of the above
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17.

18.

19.

20.

‘Audiometer’ device is used to measure
the learner’s activity.

(A) learning
(B) visual
(C) tactual

(D) None of the above

Which of the following is not a test for
measuring learning disability?

(A) Criterion reference test
(B) Informal reading inventory
(C) Standardized linguistic test

(D) None of the above

Which of the following tests is a
standardized Indian test for measuring
the creativity?

(A) Passi test of creativities
(B) Torrance test of creative thinking

(C) Getzels and Jackson test of creativity
thinking

(D) None of the above

This method is used for the deaf-learners
to learn proper grammatical construction
of a sentence.

(A) Braille method
(B) Fitzgerald key method
(C) Abacus method

(D) None of the above
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21.

22.

23.

24.

Which one of the following is not a type
of conditioning?

(A) Extinction
(B) Classical conditioning
(C) Operant conditioning

(D) None of the above

SQ4R technique in the development of
learning was proposed by

(A) Atkinson and Shiffrin
(B) Bower and Hilgard
(C) Thomas and Robinson

(D) None of them

education includes such learning
situations which do not have curriculum,
syllabus or certification but typically take
place naturally as part of other activities.

(A) Special
(B) Formal
(C) Non-formal

(D) None of the above

Which one of the following is the learning
error?

(A) Mathematical error
(B) Writing error
(C) Both (A) and (B)

(D) None of the above
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25.

26.

27.

In counselling session, when the
counsellor states what the client has just
said, using fewer words but without
changing the meaning of what the client
said, it is called

(A) paraphrasing

(B) communication

(C) decoding

(D) None of the above

Psychologist Gardner mentioned seven

types of intelligence. Which of the
following is not one of them?

(A) Interpersonal intelligence

(B) Musical intelligence

(C) Spatial intelligence

(D) None of the above

motives are considered as primary
motives.

(A) Psychological

(B) Physiological

(C) Social

(D) None of the above
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28. Learning disability in motor skills is 28. (*MI® Tl MG SRS 1 2

called

(A) dyscalculia (A) o

(B) dyslexia (B) Tocatisrn

(C) dysphasia (C) i

(D) None of the above (D) TolcTa @R

29. The term ‘counselling’ is derived from the 29. ‘FICERR’ = qOE AT *H
Latin word

(A) crioulo (A) TFRTET (AT
(B) consilium (B) PRI (CF
(C) cri du chat (C) 2 T oI (2
(D) None of the above (D) TR @R

30. This type of counselling involves people 30. @3 R AW RIS OIE Gy, Al

who drop out from the school and whose ﬁmﬁm-@ R A T ToTS SCTF oI |
difficulties are likely to be more severe.

A) FFEMD-Fés mfre

(A) Community-based counselling

(B) School-based counselling (B) AR

(C) Both (A) and (B) (©) (A) @R (B) T2

(D) None of the above (D) T (P10
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PART—II / <i9—II
LANGUAGE—I / S[¥I—I
ENGLISH / 33&

Directions (Q. Nos. 31-35) : Read the poem 34. Where does the tiger sleep?
given below and answer the questions that (A) At the forest pond

follow by selecting the correct option.
(B) In the poet’s room

May there always be tigers.

In the jungles and tall grass (C) In the dark caverns

May the tiger’s roar be heard, (D) None of the above

May his thunder

Be known in the land. 35. The last three lines of the poem show
At the forest pool, by moonlight (A) the poet’s sense of humour

May he drink and raise his head ,
) i ) (B) the poet’s arrogance

Scenting the night wind.

May he crouch low in the grass (C) the poet’s love for nature

When the herdsmen pass, (D) None of the above

And slumber in dark caverns

When the sun is high.

May there always be tigers. Directions (Q. Nos. 36-45) : Fill in the blank
But not so many, that one of them, taking the appropriate alternative from the
Might be tempted to come into my room given options in each of the following.
In search of meal !
36. Twelve inches make foot.
31. The poet wants the tigers to be ) a
(A) in jungle (B) an
(B) everywhere (©) the

(€) in his room (D) None of the above

(D) None of the above

37. Silver, as well as cotton, _ fallen in

32. What does ‘his thunder’ mean? price.

(A) Thundering clouds (A) is

(B) Tiger’s roar (B) are

(C) Poet’s voice (C) have

(D) None of the above (D) None of the above
33. Why would the tiger raise his head? 38. _ gave you that knife?

(A) To show arrogance (A) Which

(B) To see the moon (B) What

(C) To look around (C) Who

(D) None of the above (D) None of the above

R1.19/ MPR-=I/A 10



39. Peter played handball yesterday, 44. 1 caught sight of in the mirror.

(A) did he? (A) themselves
(B) didn’t he? (B) theirselves
(C) has he? (C) himself
(D) None of the above (D) None of the above
45. We obey the laws.
40. Sent the parcel post.
(A) can
(A) through
(B) may
(B) by
(C) have
(C) at

(D) None of the above
(D) None of the above

46. The synonym of ‘precarious’ is

41. Here my brother.
(A) painful
(A) come .
(B) hinder
(B) comes

(C) uncertain

(C) can come (D) None of the above

(D) None of the above
47. The antonym of ‘allay’ is

42. Have you bought __ mangoes? (A) fanatic
(A) a little (B) acute
(B) some (C) soft
(C) any (D) None of the above

(D) None of the above . )
48. “In spite of all his brag he had to eat

humble pie.

43. 1 got by his enthusiasm. Here ‘to eat humble pie’ means

(A) carried away (A) to apologize humbly

(B) carried out (B) to anticipate
(C) carried off (C) to adapt
(D) None of the above (D) None of the above
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Directions (Q. Nos. 49 and 50) : Rearrange the
jumbled structures to construct a meaningful

sentence.
49. very exciting can be new country

(1) (2) (3)

travelling to a
(4)

(A) 1-2-4-3

(B) 3-2-4-1

(C) 4-3—2-1

(D) None of the above

50. win the love of others and respect
(1) (2) (3)
good manners
(4)
(A) 4-3-2-1
(B) 4-1-3-2
(C) 1-4-3-2

(D) None of the above

Directions (Q. Nos. 51-55) : Answer the
following questions by selecting the correct
option.

51. Ivan Pavlov propounded a new theory of
learning known as

(A) operant conditioning
(B) classical conditioning

(C) concept conditioning

(D) None of the above

R1.19/ MPR-=I/A 12

52.

53.

54.

55.

is a learning disability that affects
handwriting and fine motor skills.

(A) Dysphasia
(B) Aphasia
(C) Dyscalculia

(D) None of the above

TBLT in second language teaching is
(A) Tool Based Language Teaching

(B) Task Book Language Teaching

(C) Task Based Language Teaching

(D) None of the above

Which of the following is not a study
skill?

(A) Collecting information from an
encyclopaedia

(B) Writing formal reports

(C) Using a dictionary

(D) None of the above

Identify the word where the /6/ sound
occurs.

(A) Thread

(B) Then

(C) Those

(D) None of the above



Directions (Q. Nos. 56-60) : Read the passage
given below and answer the questions that
follow by selecting the correct option.

The editorial policy of a popular daily is
controlled by two chief factors. The first is the
interest of the advertisers from whom it gets the
money which enables it to keep up its large
circulation. No widely circulated newspaper
dare support a public policy, howsoever much
in the national interest that might conflict with
the vested interests of its advertisers. On the
other hand, any product that refuses to pay the
advertising rates of a powerful national organ
will be denounced, smashed and driven off the
market. You are not allowed to use any product
that dissociates itself from the advertising ring.
All this is understandable, since big circulation
spells bankruptcy if the paper has to depend on
its sales for its revenue.

56. According to this passage, one of the
chief factors that controls the editorial
policy of a newspaper is

(A) the interest of the nation
(B) the interest of the advertisers
(C) the interest of the reader

(D) None of the above

57. Big circulation spells bankruptcy if the
paper depends on its sale for its revenue

because

(A) the advertisers will not be there to
support its cost of production

(B) to retain its big circulation, it will
have to be sold far below the cost of

its production

(C) the advertisers would drive it out of

circulation

(D) None of the above

R1.19/ MPR-=I/A
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58. A widely circulated newspaper cannot
support a public policy

(A) unless it supports the national

interest

unless it supports the popular belief

unless it supports the interest of the
advertisers

(D) None of the above

59. If a producer refuses to pay high rates
of advertisement in a widely circulated
newspaper
(A) the circulation of the newspaper will
decrease

(B) the rival producers will come forward
with advertisements against that
produced

(C) the newspaper will cut its number of
pages to reduce its cost of production

(D) None of the above

60. The word closest in meaning to
‘condemned’ in the passage is
(A) smashed
(B) denounced
(C) controlled
(D) None of the above

I PTO
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(A) 1861 fa3%1cw 80. COTIY TE-aq ‘T TS A =
(B) 1871 fXooicw (A) 1905 b1
(C) 1867 fFbicw (B) 1911 f2p6ics
(D) Tl (T2 (C) 1912 12bcH
(D) Tocq (P2

77. CPYRGER IR o1 (RIS Tew! 17
81. ‘Nfeny’ ==y avfier acem

T TR

(A) T TS
(A) T AT R
(B) T T (C) Tacemet= T/
(C) “TersFeT T

(D) 4T (FT2 T

(D) G (T2

82. ‘‘GsICd AR (SIRP-I (KT OICA N2Ie 7,
b2 0 B b i B | S e RO I B B R

78. ‘TEA FRIEH TN FCE

@2 7<fe 7' fercacen
(A) T 7S () TS B
(B) SIoe1=P® O (B) & B
(C) Jfem™ I™ (©) R I
(D) 4T (T3 (D) YR (@3 T
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83.

84.

85.

86.

‘OIHE = ORI IO 2
(A) Tacsrwetel ar

(B) SIS A1
(C) 3T SGIoR

(D) dC@ (FT o

o5 I S 2O AR SePIC
fafetre <refer o wm D 25

(A) Mz
(B) CNEfaes
(C) “elg

(D) Toia (e T

TRF—2 oI = 25
A) 4 75

(B) «INE 7%
(C) =%

(D) TR (FFe

“yel e el 2ffSe Fee S @i |7
e SLfefes AFReen P 9@t 9o

(A) TRELS

(B) RERIE@IEF I
(C) Mot <

(D) T*[7a (FFe T
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87. [ > *qIe 29

88.

89.

90.

o

(A) RS Twrege

(B) R Tz
(C) mred TmrEgel

(D) ¥*IE @i T

oz *mioa e Freil® *@fb 2
A) fea~ge

(B) =
(C) o=

(D) Tocad (@i o

Preg e FeEE @Ye A (T R
Sifes Tocan @l (stage) 2@

(A) THES [0
(B) =R 1
(C) Y& A

(D) Tocad (@ioe o

FCad THRC € AGTSRR Fo-[RpNe =1 %[0T
(A) TR TR T2

(B) SIS “ICIF AR
(C) BRI AR AR
(D) ¥*iEa (@i T
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Candidates have to answer Question Nos. 61
to 90 Either from Part—III (Bengali) Or from
Part—IV (Kokborok).

AIFINE 2P R 61 (AF 90 TEF FACO A
o Ol (AIN) (AT HET C—IV (FFIEF)
(A |

PART—IV / <9—IV
LANGUAGE—II / SNI—II
KOKBOROK |/ 395

wiise el T QU cfee 61 w-f1 Bify
65 71k &l Negealf 5 frgare e Koifi |

fereqg (@l Svov FAMG [ER crgmE @R
SSRSeT FRI JeITAIS a1 8ol WoE” | e
el 8 I 2R 5% (el | 9 Jq b1 Fe
o3 A FANS ST | SRST2 IR ToT1 S 472
Sfereqd (A (AR AT ©eFE-  FHAL
TR o1 (5291 | (NGPCer e A o’ 3 Ferarefel
e FeeTe” 217 O S o2, Q. A T’ | S|
e q PeTplolfel Saere [RpeTe TR’ | e Ter’
2B TR TR [ew o f@eEE wfE, 1 o
e o 112 T’ | Rew oF g siftreage [
G A’ FAGAR el (XA | &l A
RbRS-7 7 FAeAR Sl APy el | S| Ter’
FINGAR e AP fferfa gesl 27 SR A
feporifer faficel-=1 offerfer 2acorga Snest | wfer Te” sffemifer
SRl TSl A | <{fereifel DI AP < A A,
“offerifel e M RFRe SR wYe wIHRA (@
oee a [ERM Tz vegey TR R, wiw’
2ERIR FIPI JIoTeTy YAEINE sl 177

61. SfEroqq (Il FRAR A TR T T 2
(A) g <t
(B) e Tt

(C) oI ey
(D) SFIT 2ZT T

62. 2. «. “P AR Tot’ wferoag SR A8l
27

(A) FMGTRM Al

(B) ~femif sTeal
(C) I sl
(D) ARl A2 F=
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63. T e Tl [FERF wege Fetier Fam2 2= 2
(A) TR A
(B) MRl s
(C) S T8

(D) TRFIf AT T

64. ‘T2 IFUR I I LAGF 2
A) T FHqE
(B) ‘q=i’ 5’

(C) ‘o’ e’

(D) TP A2 T

65. ‘fFeTR’ TR -’ Al
(A) e ezl T2

(B) MAE e

(C) M a2

(D) TR A2 T
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66. IIITIN RN FFAAR. e 8
(A) =R
(B) (O
(C) =g

(D) Al A2 F

67. TFITT A3 AT 7[2eT FFeRf e
(A) g
(B) JCR
(C) Trme

(D) TR M2 e

68. wofl faemaf [P Fqmga o=l
RIREIEACTS|

(A) 2P ¥=Te

(B) =T Y=

(C) =pe fil

(D) SRR A2 T

69. ‘ol AP 18’ FFOR K& el
(A) CTFTEN Rt

(B) ARl =l

(C) =Tcorm eI

(D) A A2 F=
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70. ‘e IS TS’ Ol [ 2
(A) Ao [l
(B) ¥R e
(C) e[ [l

(D) AR 22 T

71. ST FFoRIe’ [Ee e
(A) R o=
(B) fm raasi
(C) FoM vl

(D) AR 22 T

72. IR 22 TR @A g
(A) SR e

(B) I3« 79 o

(C) TRl A9 TS

(D) AR /M2 T

TP AR B SAeerers «2e e Karaf
s

73.

(A) NI 2361
(B) Prerolz Prrereiz
(C) @ETTE-%

(D) T 2T
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74. TN 2ol FhA1 i I8
(A) PFI
(B) gl
(C) T Frore

(D) ST L2 T

75. ST 35 (eT]8) 3 20T IEIS 2
INREEIGE
(B) TaNeTIe
(©) W
(D) TR M2 e

76. IFET AR T VFI I O IGIYIG
FHIAF [2e118. ISP ?

(A) TR T T
(B) oo (or@<f) weifel 5
(C) R v w5

(D) A A2 T3

77. 76 WIS 2
(A) TR
(B) w2
(C) W=
(D) TR /23T 22
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78.

79.

80.

81.

ARISERCIN

(A) “eqe TRl e Te
(B) “[eqe (TS SR

(C) THTF H2YF qToR

(D) Al BT F A

‘v’ AR T - e AR (THRE FE) Bl
(&) F9F (%)

(B) TR (9)

©) ® ()

(D) Tl 22T 3

b S Ciey B’ | Sl SR ey’
RIS

(A) J& T

(B) JeMeTz

(C) T2 SIee

(D) AR 22 T

ORF Fef wEpE’ B e (el | e
fRerare T 9 OreREe’ 4@ ?

(A) SlEEIME SIe2EH
(B) ©IgYE OIg[eTh
(C) SIARY TIeB[EF

(D) T 22



82. T I TIYERIS AN ML (LATEF ? 86. IFI S FHAF

A) @i TR A (A) T8 SRl RIS Spa
(B) T8 Faarplel Teol’ Al
(C) TR~ Sy’

(B) ‘ﬁ’?‘[, ﬁ ‘Tﬁ,

(C) 6‘;{@$ ﬁ ‘m@7

(D) Al ABAT F A
(D) ST A2 T
87. W FrEMHE MAeZ
83. Jyafe TR SR | T FHAORA OHF () R T (R TN A
OS] A -9 2B AR (B) ﬁﬁ TP TS QNS Al
(A) TS TEIT3 weIfe (C) TIM FFA9-3 FRMUR TS I’
(B) FFAf® To1T wex (D) ST < 5
(C) Fgafe o weef 88. TEIA FIENID TG AT
(D) ARl A2 T (A) TP FFAM STareA F’ Al
(B) T TSI FFAE MaTeAD
84. ‘Proags - Fewere FHR AR (C) << e P22 ez
) R (D) A ABAT F A
(B) RITTT 89. (ORI 7fZell
(C) TP (A) Prfsr PifaR «fz-w1 “iff Faea@
S —— (B) 2dns 2[1T3-7 (Wqf2) g Fnez
(C) C&a1 e <2 FqeB- Hol’
(D) A ABAT F A
85. TS’ Bl FIAR (RAYRDS *) I8
RERIED|
90. FINCIIR T 7251 TRPIAI
(A) Tomwd’ el
(A) 2EID =7PIR
(B) eT=Iesl wpal’ B) TR 5
(C) CedTl &ioll T el e’ (C) &= Fullie 2D
(D) Il AT 10 (D) STIIfel AT 1
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PART—V

/ =—V

MATHEMATICS |/ slf9fe

Directions : Answer the following questions by
selecting the correct option.

91. (9n6 —11) when divided by 8 would leave

a remainder
(A) 6
(B) 10
(©) 2

(D) None of the above

If

Q=3+[@+9~6],

ki

4
R=[83+@4+95]+6 and S=3+4(5+6)

then

(A) all are equal
(B) P and Q are equal
(C) P and S are equal

(D) None of the above

93. The lines joining the middle points of the
sides of a triangle make

(A) four equilateral triangles

(B) four triangles similar to the original
triangle

(C) four isosceles triangles

(D) None of the above

R1.19/ MPR-=I/A 27
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91. (9n® -11) & 8 ¥ ©I FACE TN A
R

(A) 6

P=—=

Q=3+[@4+95~6],

)

ol

3
4

R=[83+@4+9]+6 4R S=3+4(5+6 A

O]

(A) FRGTE I
(B) P € Q
(C) P& S M

(D) TR (@02 T

93. <l fqgced MR FNRTBTE & FC
QICRIIIE

(A) vR R fagw




94.

95.

96.

97.

A rectangle ABCD is inscribed in a circle
with centre O. If AC is the diagonal and
Z/BAC = 30° then the radius of the circle
will be equal to

(A) Y3 pe
2

(B) 2BC
(C) BC
(D) None of the above

The ratio of volumes of two cylinders is
a: b and the ratio of their heights is c: d.
The ratio of their diameters will be

ad
A) &
(A) P~
ad?
B) “=

be

() a.c
b d

(D) None of the above

A rhombus OABC is drawn inside a circle
whose centre is at O in such a way that
the vertices A, B and C of the rhombus
are on the circle. If the area of the

rhombus is 3243 m2, then the radius of
the circle will be

(A) 8m

(B) 64 m

(C) 32m

(D) None of the above

Vessels A and B contain mixtures of milk
and water in the ratio 4:5 and 5:1
should
quantities of mixtures be taken from

respectively. In what ratio

A and B to form a mixture in which milk
and water are in the ratio 5:4°?

A) 2:3
B) 4:3
(C) 5:2
(D) None of the above

R1.19/ MPR-=I/A
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94,

95.

96.

97.

O-(FuRME @b Jc8 ABCD GFib SROCHE
sl szl AW AC I W @
ZBAC = 30° =¥, &1 Jefod T

(A) ‘f BC-&3 9 2@

(B) 2BC-&3 7 2
(C) BC-& 7 2
(D) Tocad (@ioe o

7 OICET ST WS a:b GRG0
THO TS c:d A, G TOW FeAT
A

ad
A) —
(A) -

ad?

bc?

(B)

a c¢
C) |=x—
(€) 5 X

(D) T°I7a FFbe

O-FuRME @b I8 OABC @I 97
GITed SEeEfie @ @3 A A, B 8 C

Jed T S[fFe | AWM Iiod CRaRe
323 3sff¥brR = w@ e TP 2

A) 8

(B) 644

(€) 32f%

(D) T°I7a (FFHe

A ¢ B Aq6ee 74 R ECeR W S
Y@ 4:5 4R 5:1. A € B 7@ (A 9
SIS e oo i gee fieer tef e
TS 7Y € GCER A 5:4 7?2

(A) 2:3
(B) 4:3
(C) 5:2
(D) TR (FFe .
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98.

99.

100.

101.

R1.19/ MPR-=I/A

Vineet calculates his profit percentage on
the selling price while Roshan calculates
his profit on the cost price. They find that
the difference of their profits is ¥275. If
the selling prices for both of them are the
same, Vineet gets 25% profit and Roshan
gets 15% profit. Then the selling price
will be

(A) ¥2,100
(B) 2,300
(C) ¥2,250

(D) None of the above

The greatest number of five digits, which
when divided by 4, 6, 14 and 20 leaves

respectively 1, 3, 11 and 17 as

remainders, will be
(A) 99957
(B) 99997
(C) 99930

(D) None of the above

If the rate of exchange is 7-50 dollars
for ¥ 100, then how many dollars will be
equal to ¥550°?

(A) 41-75 dollars
(B) 42:75 dollars
(C) 41-25 dollars

(D) None of the above

Ifatb:b+c=c+d:d+a, then

(A) either a=bora+b+c+d=0

(B) either a=cor a+b+c+d=1
(C) eithera=cor a+b+c+d=0
(D) None of the above

24

98.

99.

100.

101.

e o sces ol 29 Mo Toe
201 361, I7) W @r o) oS oW 30
ST TR | ST (e TSI SICed AT
¥275. W ©lOW ACORP (AR [REEen
@2 27, e 25% @ M @91 @ME 15%
e (I AP oo RFen 2]

(A) £2,100
(B) ¥2,300
(C) ¥2,250

(D) Tocad (@ioe o

6 ICHT JZed R A 4, 6, 14 4R 20
W@ e FE IWEFE 1, 3, 11 @R 17
TR 2, 9@ A 3@

(A) 99957
(B) 99997
(C) 99930

(D) T*iEa @i T

W 7-50 TeCH [ € 100 BE =, OE
T TR T 550 GF I 2T ?

(A) 41-75 T
(B) 42-75 TeTq
(C) 41-25 T

(D) Tocad @i o

M a+b:b+c=c+d:d+a =, O
(A) a=b«gMNa+tb+c+d=0
B) a=ca9M a+b+ct+d=1
C) Wa=ca9 a+b+c+d=0

(D) T°[7 FFe .



102.

103.

104.

105.

R1.19/ MPR-=I/A

The compound interest on ¥ 24,000 at

15% per annum for 2% years will be

(A) 9,227
(B) 9,327
(C) ¥9,732

(D) None of the above

The value of

( 1 1 1 1 1 )
+ + + +

1x4 4x7 7x10 10x13 13x16

is

A —
(B) %

3
© 3

(D) None of the above

The sum of two numbers is 528 and their
HCF is 33. The number of pairs of such
numbers satisfying the above condition
will be

(A) 6
(B) 12
(C) 4

(D) None of the above

If a cube has surface area S and volume
V, then the volume of the cube of surface
area 2S will be

A) N2V
(B) 242V
(C) 2V

(D) None of the above
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102.

103.

104.

105.

ARE 15% 2@ T 24,000-99 2% BITEE
PR

A) ¥9,227

(B) ¥9,327

(C) ¥9,732

(D) TR (@02

( 1 1 1 1 1 j
+ + + +

1x4 4x7 7x10 10x13 13x16

@ T T

5

A 7o

1
B) 3
3

©) 3

(D) Tocad (@ie T

vio RYE B 528 @R G 9. M. B. T
33, TS 6 ({1 WA (LT WA 2J

(A) 6

(D) T*IEa (@i T

G TP OER CFAFE S GIR SRSV,
TR0 SR (FEFA 25 20 @7 IS 2

(A) V2V
(B) 242V
(C) 2V

(D) TR (FFe ./
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106.

107.

108.

109.

R1.19/ MPR-=I/A

12 gallons equal
(A) 54480 ml
(B) 56680 ml
(C) 58840 ml

(D) None of the above

In a triangle ABC, ZCis an obtuse angle.
The bisectors of the exterior angles at A
and B meet BC and AC produced at D
and E respectively. If AB= AD = BE, then
ZACB will be

(A) 110°
(B) 105°
(C) 108°

(D) None of the above

The mean of 12, 22, 32, 42, ey 192, 202
is
(A) 143-5
(B) 1345
(C) 1544

(D) None of the above

If a sphere of radius r is melted and
recasted into a cone of height h, then the
radius of the base of the cone will be

r3

(A) 3y~

-
(B) 3h73

3
|
G

(D) None of the above
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106.

107.

108.

109.

12 SeTCTS T 25
(A) 54480 f.fel.

(B) 56680 fil.fel.

(C) 58840 fi.fer.

(D) ToiEE (I T

fages ABC-97 £C 93 ToFT1 A 9R
B~ IfRHICT THRYeS e BC @R AC
& WFE D ¢ E Ryees @@ Fca | A
AB= AD = BE ¥, 93 ZACB ¥d

(A) 110°
(B) 105°
(C) 108°
(D) PR (Ao T

12,2232 42,192, 20%-97 5T¢ 7
(A) 1435

(B) 1345

(C) 1544

(D) Tocad (FMie

I r AP G NERCE NN T 6%
TR Gfbce h THOR *FCe AfFTe =,
od *rgiog g e 2

3
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110. A train moving with a uniform speed

clears a platform 110 metres long in
10 seconds and passes a telephone post
in 5 seconds. The speed of the train is

(A) 80 km/hr

(B) 81 km/hr

(C) 82 km/hr

(D) None of the above

111. The number of rotational axes of
symmetry for a square is
(A) 2
(B) 4
(C) 6
(D) None of the above

112. In a triangle ABC, the side BCis extended
up to D such that CD=AC. If
Z/BAD =109° and ZACB= 72° then the
value of ZABC is
(A) 35°
(B) 45°
(C) 40°
(D) None of the above

R1.19/ MPR-=I/A
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110. ¢ FE4NfC sWafoce 110 o =/ 9o

111.

112.

WHFAE 10 OIS @R G0 (BeIcIced
M@ 5 owee wfedy @ | @@
I CRIEG

(A) 80 ff/9%1
(B) 81 ¥ /2%
(C) 82 fFfi/ad

(D) TR (@Fe

Gl FofCFCas Yoo AR Sere FRe 29

(A) 2

(D) Tocaa (@be

f@g® ABC-99 BC Aq%® D "% G¥IeIq
Fffe Fq@ T AC® CD=AC =W, IM
/BAD =109° &R LACB=72° ¥, S
ZABC-&3 S %9

(A) 35°
(B) 45°
(C) 40°

(D) TR (FFe ./
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113.

114.

115.

116.

If in the formula C = , nis increased

R+nr
while e, R and r are kept constant, then C

(A) increases and then decreases
(B) decreases
(C) increases

(D) None of the above

In AABC, AC=24cm, BC=10cm and
AB=26cm. Then the radius of the
inscribed circle will be

(A) 26 cm

(B) 4 cm

(C) 13 cm

(D) None of the above

The father of behaviourism is
(A) J. B. Watson

(B) E. L. Thorndike

(C) Aristotle

(D) None of them

Question-Answer Method is given by
(A) M. Montessori

(B) Galton

(C) Socrates

(D) None of them

R1.19/ MPR-=I/A
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113.

114.

115.

116.

XH%C— en
R+nr

-3 W FIF 2@ ACF, O C-9F qM

@ n Ja o7 5T e, R &R

(A) I I @R 7[cF 3T “I™
(B) 2P1 “IR

(C) If& o

(D) T (PRI T

ABC f@gts AC =24 GT¥, BC =10 CTW &<}
AB =26 G 2= wgqced P 20q

(A) 26 @
(B) 4 Cif¥
(C) 13 ¢if

(D) Tocad (@ioe o

SHRRITE Gl 2T
A) & [ sqH™
(B) 3. €. (T{zH



117. NUEPA is concerned with 117. NUEPA ={e T3y =&

(A) educational evaluation (A) ﬁf‘iﬂw BallED
(B) educational planning (B) ﬁfﬁw GBSO
(C) educational unity (©) ﬁfﬁw GF9[

D) None of the above
(D) v (D) TR @R

118. The goal of teaching is
118. PFEFMICT o5 291

(A) to make desirable change in

behaviour (A) SIBACR “[7rie RS Fa
(B) to impart general knowledge (B) TR @A v« F1
(C) to give information (C) O 2w F4I
(D) None of the above (D) ToRR @D o

119. As per the RTE Act, 2009, whose
responsibility is to prepare a school

119. RTE Act, 2009 @RI, [wER T

development plan? R 27 FIF Mg I T 2
(A) School Headmaster (A) et 2y e

(B) School Development Committee (B) e Saer S

(C) School Management Committee (C) SERIISERCIISITI

(D) None of the above (D) Torca (IR W

120. The number of stages of cognitive domain

120. E[EF (AT B MR 26T

is

() 3 @) 3
(B) 4 (B) 4
C) 6 € 6
(D) None of the above (D) TR @R
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Directions : Answer the following questions by

PART—VI / <9—VI
ENVIRONMENTAL STUDIES / “ifsta=if<w

selecting the correct option.

121. Growing the same crop over and over

122,

123.

124.

again and using so many chemicals
makes the soil

(A) fertile
(B) infertile
(C) useful for a special kind of crop

(D) None of the above

Which type of energy resource is

geothermal energy?

(A) Conventional, renewable

(B) Non-conventional, non-renewable
(C) Non-conventional, renewable

(D) None of the above

The largest brackish water lake in Asia is
(A) Chilika Lake

(B) Vembanad Lake

(C) Wular Lake

(D) None of the above

Mineral stocks exist on earth surface are
(A) renewable

(B) non-renewable

(C) partially renewable

(D) None of the above

R1.19/ MPR-=I/A
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121.

122.

123.

124. ©

aF2 GRS GF3 2FF *PT IEAE B @R

(A) TIF FF (oA

(B) SF[EA ¢ (O
(C) ROW 2R 0O &+ 289 I (S

(D) Tocad (@ioE o

TSP ME (P 4qeR e 2
(A) @BfeT®, TP

(B) Tebfers, SWFICIEN

(C) S2bfere, AP

(D) Tocaa (Fie T

PRI W0 JZEH AR (I SCEH ZOR AN 39
(A) fo=r 2n

(B) CoFM 2%

(C) ToTE 2w

(D) Tocaa @2 W



125. Nuclear power is mainly derived from
(A) uranium
(B) platinum
(C) silver
(D) None of the above
126. The disease caused by Cadmium
pollution is known as
(A) Minamata
(B) Itai-itai
(C) Arsenicosis
(D) None of the above
127. Which of the following diseases is not
caused by mosquitoes?
(A) Dengue
(B) Filaria
(C) Plague
(D) None of the above
128. The pollutant that causes hole in the
ozone layer is
(A) SFg
(B) Nitrous oxide
(C) CFC
(D) None of the above
R1.19/ MPR-=I/A
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125.

126.

127.

128.

AT *fS gy “req T
(A) TR (A

(B) 20T (A

(C) Prrer (=

(D) Tocad (@ioE o

RN TR FCo @ b 2 o 29
(&) FRmmIG!

(B) 262-2572

(C) SRR

(D) Tocad @ioe o

fraferfie @R @t P == =1 w2
(A) &%

(B) TFRcefa

(C) ¢zl

(D) To[ER (@0 T

ecarEc fou R e e =
(A) SFq

(B) =IRErT ST

(C) CFC

(D) TR (FFe .
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129. The main cause of acid rain is

(A) air pollution

(B) water pollution

(C) soil pollution

(D) None of the above

130. The example of a natural ecosystem is

(A) agricultural land

(B) aquarium

(C) grassland

(D) None of the above

131. Detritus food chain starts with

(A) green plants

(B) dead organic matter

(C) consumers

(D) None of the above

132. Very minute plants floating in the water
are called

(A) nekton

(B) phytoplankton

(C) benthos

(D) None of the above
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133. Decomposers constitute a group of
organisms which
(A) consume living animals and plants
(B) consume living animals
(C) consume dead organisms
(D) None of the above
134. CITES is an international treaty on
(A) air pollution
(B) water pollution
(C) conservation of endangered plants
and animals
(D) None of the above
135. National park is one kind of
(A) ex-situ biodiversity conservation
(B) in-situ biodiversity conservation
(C) both ex-situ and in-situ biodiversity
conservation
(D) None of the above
136. One of the conventional sources of energy
is
(A) wind energy
(B) tidal energy
(C) hydroelectric energy
(D) None of the above
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133.

A) Gi7E Tfen e e
(B) &®
(C) To &R

(D) Toad (@i o

134. CITES 27 @30 w@sifes pfe

(A) TR FTFRR

(B) TR TFA

(C) fom 21t ¢ Tfen awfemwa s Sy

(D) ¥*IEd (@i T

135. SO Wi 29 GFUFE
(A) @ GRCba apel
(B) PG Gtafbar el

(C) @IP @R TAPD TSIPE  GRCADD
TR

(D) Toad (@i o

136. 43 ofere *feq Te =&

(A) arpife

(B) (GRE-SBR *If&
(C) weRR *Ife

(D) Toicaa (AR T
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137. Plankton, nekton and benthos are not | 137. 27%0<, (IF6 @R @ VLT—d3 TS

the components of oNey IR <

(A) river ecosystem (A) TWF IFESCH

(B) oceanic ecosystem (B) TCud qEeCE

(C) grassland ecosystem (C) PToE IFEOCT
<

(D) lake ecosystem (D) 0@ AT

138. In ecosystem, when energy moves from | y3g. IrEeCE e T4 GF ?I%@?l QA o G
one trophic level to another, it ?I%W sAfes = w4 WfE

(A) increases

(A4) &«

(B) decreases

(B) 2™ ™

(C) remains constant

(C) e e

(D) None of the above (D) T (FEIR T

139. The smallest river in Tripura is

139. @@= SCoea (”B w1 2

(A) Manu river

(A) =
(B) Gumti river B) ¢ S
(C) Haora river ©) Zsw N

(D) None of the above
(D) Tz FFbe

140. Which of the following cycles is
concerned with energy flow in the 140. THPINS (3 LE@E TEecEs & 29 e

ecosystem? TolfFS 2

(A) Food cycle (A) W5 DF

(B) Sulfur cycle (B) eI D

(C) Chlorine cycle (C) & v

(D) None of the above (D) ICFR (@b W
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141. Which national highway connects | 141. (Jiq SIORI  STTHIG %ﬂﬂlcqﬁ SIEICHIRE Rl

Tripura with the rest of India? P-YCT MK & (TR ?
(A) NH 53 (A) @ @25 53

(B) NH 8 (B) @9 «3b 8

(C) NH 10 (C) @ @36 10

(D) None of the above (D) ToCaA (P02

142. The highest peak of Longtarai range is 142, sCOF2 QO S % 28]

(A) Sakhan (A) TR

(B) Jarimura (B) &fel

(C) Bethling sib (C) @aferel PR
(D) Feng pui (D) &% 72

143. A river with high BOD value indicates 143. & g BOD-9F T @ 331 © 337 F¢q

(A) high pollution level (A) 7o wrar @

(B) clean water (B) @ “IRRA

(C) presence of crocodile ©) ﬁ@?l Topfe

(D) None of the above (D) TER (@R

144. Eutrophication results from 144. TG 9006

(A) run off from agricultural field and (A) DI @ (AT e T e aWEE
sewage pollution GETACTS NI

(B) vehicle exhaust (B) TR (ACF Fofe (e e

(C) pesticides (C) FOHIF (AT

(D) None of the above (D) CFR (@S W
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145. World Ozone Day is observed on

146.

147.

(A) 2nd September

(B) 16th September

(C) 21st March

(D) None of the above

Rickets is caused by the deficiency of

(A) vitamin B,

(B) vitamin C

(C) vitamin D

(D) vitamin A

Which of the following places in our

country is a ‘cold desert’?

(A) Jaisalmer

(B) Ladakh

(C) Meghalaya

(D) Darjeeling
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145. 4 sEe W ifere =3

(A) 271 OB

(B) 163 CTCHTd

(C) 21¢% W6

(D) T*Iaa (FFe

146. {36 @6Ifoa F9 2=

(A) SO B, -9 w/e@

(B) TebIfE C-99 wre™

() fSofe D-97 e/

(D) FEBIET A-9q SoR

147. e smeneli S @Eb SN @eE

@5 Nee] TEe 2
(A) SRETANE

(B) =i



148. Which of the following is essential for | 148. afeive Wb BociRa  tedl e
producing haemoglobin? SOITHTE ?
(A) Calcium (A) PRI
(B) Iron (B) =™
(C) Magnesium (C) SFISCTRI
(D) None of the above (D) THE (@R T
149. The protocol which decided to completely | 149. CFC JR=F 7o I8 T Soaed @ pef
phase out CFC is known as SRR O 39
(A) Cartagena Protocol (A) FTOCS (ATCHRRE
(B) Montreal Protocol (B) TfGe1 (G
(C) Kyoto Protocol © RGO (21T
(D) None of the above (D) ToER (@R
150. Tripura is situated in 150. T\@ﬁ SRS 25
(A) seismic zone I (A) e @w 1-9
(B) seismic zone V (B) Prifie (ae V-9
(C) seismic zone IV (C) PPN (&M IV-9
(D) None of the above (D) 7[R @2 7
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR
Answer Sheet. The answer once marked is not
liable to be changed.

The candidates should ensure that the OMR
Answer Sheet is not folded. Do not make any stray
marks on the OMR Answer Sheet. Do not write
your Roll No. anywhere else except at the specified
space on the OMR Answer Sheet.

. Handle the Question Booklet and OMR Answer

Sheet with utmost care, as under no
circumstances (except technical defect), another
set of Question Booklet and OMR Answer Sheet
will be provided.

The candidates will write the correct Question
Booklet Number and OMR Answer Sheet Number
in the Attendance Sheet.

The candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic devices or any other
material except the Admit Card and Photo Identity
Card inside the Examination Hall/Room.

Each candidate must show on demand his/her
Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

No candidate, without special permission of the

Centre Superintendent or Invigilator, should
change his/her seat in the Examination
Hall/Room.

. The candidates will have to sign twice in the

Attendance Sheet presented by the Invigilator on
duty; first after taking their seats in the
Examination Hall/Room and second at the time of
handing over their OMR Answer Sheet to the
Invigilator.

The candidates should not leave the Examination
Hall/Room without handing over their OMR
Answer Sheet to the Invigilator on duty and
without signing the Attendance Sheet twice. Cases
where a candidate has not signed the Attendance
Sheet a second time will be deemed not to have
handed over the OMR Answer Sheet and dealt with
as an unfair means case.

. Use of any type of calculating device is strictly

prohibited.

. The candidates are governed by all the rules and

regulations of the Board with regard to their
conduct in the Examination Hall/Room. All cases
of unfair means will be dealt with as per rules and
regulations of the Board.

. No part of the Question Booklet and OMR Answer

Sheet shall be detached under any circumstances.

. On completion of the test, the candidate must

hand over the OMR Answer Sheet to the Invigilator
in the Hall/Room. The candidates are allowed to
take away the Question Booklet with them.

1.

10.
11.

12.

13.

FITefRI® fcraeit o1eetl #ed 2Ig -

2fSfb 2ica Tex 207 @ vl [Revm (el e ©f (A
WG wF TeAba (AfMFCS OMR TeRtitd (redl Jeib
FICE TEI2CID o @I ST7[fhee] Slcetl T fzrs wee
7 | G Ted Hize 41 2 (I O SR 7IRass
1 A 1 |

AT (FICATSICE2. OMR TEI2[@fs SI% F¢ =71 |
OMR TEICq (RIS ol 101 A1 B4 (@741 A =7 |
AP S (1o 799 OMR T@g#(¢q W8 TRel el
I CPICA SRR TG =10 |

OMR TG @R 20 I ARHF ToFS ST
FICS 7@ | @I SRwCe (@l T ¢ mmfeere Ffh
2[%l) OMR TER7[q € 2@ #f{%e 41 A 11 |

AT SCHCEH Ab-9 S OMR TEICIS 59 R
POCEd T FTgeTeICa foTeee 2 |

AIFINCE SUCHB FIE G FCH! SABCTADBH FE Fo! =)
CRRICAT PTG AT o1 19T, 7157 € JUETSTS A1, (oI,
(RIZE I, ST (IR SCERGI (G033 FIC 2(F 1
20 /0T 2T FACO (TSN 2 1 |

SR 20eT TASEToa 6 551 R (Fewa foom
“ArFI-RMAE ST F9 MR 91 2@ Ao AR
SE SICRD FE € FCOl ARCTADBH FIE @S A0
A |

TR FAIRACHICTS Tl TS5 - 97 RT S =rel
AIFA AT 2CE/FOF ORF PN T RS FAC
AR |

RS TACGCBERT (TS ST Mb-9 T2
HEF FACO 2(4, AR A 20 /FCF O AP
B0 217 G TGO TfefeeneEd fiFh OMR Ted7q
TN (TSI T |

SHCHCEH  Mio-9 GRAN FEHT P 4R PGS
Sfefe09-99 @190 OMR Teqolg &l (7Sl qrore
T 2RI 2[FFF 281/ of19] FICO A[CE N1 | AW
CICT! A1 S Ab-« 72R FI 1l el
o O OMR TE7q T FCEC ACH 9T 2F GR O
webe SR f2TCa 491 2 |

- (T GHCTH FISTPCAB = 17jefaneel i |
I Z6/FCR N AT AR @CET R e
el SRRl BifeTe 263 | 9 e Sfoe R (@R
o s Tl s i =eq |

(I SREICD2. 247 €32 OMR TSIYCAT (FIC SRH
(R A1 W F1 A |

I 2STF 27 AR SHE O OMR TeI79
AIF /IO W FEIIS SASGCEBEE FICZ. &l
C | 2RI 2eraft Srewd e I @S #I1eE |
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